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Dc`gVYY_) WcaaibY b~Yf`UbXcd\cbY)  Ygh g]hi~Y Ui bcfX XY >filY``Yg XUbg `U dfcj]bWY Xi >fUVUbh Z`U*
aUbX+ A``Y Ygh g]hi~Y XUbg `Y DU[Y`UbX 
 
 
8jZK\^ 7 -6D0- O]bh IUifigghfUUh / r 0//- Dc`gVYY_ 
 
@O WK^SX 7 X]ghUbWY .. _a 
LUfWcifg UggYn d`Uh Yh Vc]g~+ Jcig dUggYfcbg dUf XYil XcaU]bYg bUhifY`g 7 `Y t G`cghYfVfcY_Vcg w Yh `Y 
t @ibVYf[VfcY_ w+ 
 
@O WSNS 7 
Jcig dfYbXfcbg bchfY d]eiY b]eiY h]f~ Xi gUW Ui t ?YbhfY Odcfh]Z * O]bh IUifigghfUUh z Dc`gVYY_ w 
 
@eKZ\i]&WSNS 7  X~dUfh jYfg .0D.2 * X]ghUbWY 6 _a 
LUfWcifg ib dYi d`ig jU``cbb~+ Jcig dUggYfcbg dUf `U t ?\UfhfYigYVYf[ w Yh dciffcbg UXa]fYf `Yg j][bYg 
XY WYhhY dfcdf]~h~+ 

 
 
DY_\ `Y_] c \OXN\O 7 
NYbXYn jcig L]nnU Dih z 5D12 dcif `Y Wc jc]hifU[Y+ 
LfYbXfY `U A1..) X]fYWh]cb >filY``Yg) dfYbXfY `Y f]b[ gcf*
h]Y .) di]g =0,A1- X]fYWh]cb HYijYb) di]g `U A0.1) X]fYW*
h]cb DUggY`h) gcfh]Y /.  
 
 
RchfY [i]XY Xi ^cif 7 IUfWY` Fc`m -166+1/+/6+-1 
 
 
 

@]ZZ]Wi`h~ 7 / Vcbg\caaYg+ 


